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COMMERCE
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. GNP at market prices —Indirect taxes + subsidies is referred to as : __" )’ |
(1) GNP at factor cost (2) GDP at factor cost ¥ .. .
(3) NNP at factor cost (4) NDP at factor cost ‘,r . | r
B
Y
i a'
2. EDI system got legal recognition under which one'b£ tk‘i follov(ing 9t'_'cjts ?
(1)  Electronics Act, 1996 (2) ight to Pata Act, 19
(3) DGFT Act, 1999 (4) JInformation Technology Act, 2000
3.  Following statements are related to futures contractsg’ Choose the statements that are not

true : - /

(a) Purchase of a futures contract® é\lled short pcﬁ;c;

(b)  Currency futures are tradé@ogan éxchange in standardised form and in fixed quantity.
(c) Default risk in futures _g_uract is high compared to forward contract.

Codes : ,‘

(1) only (a) and ( b)( \only (@ and (c) (3) (a), (b)and (c) (4) only (b)

k |

4. From the follpwing, identify the trading blocks in the world and choose the correct code :

2y European ion

b) North Ameficarl Free Trade Agreements

rican Customs Union

(

L (

(c) sSouth Asian Association of Regional Co-operation
(d

(e} Central

/ Central j)wrican Common Market

Codes :
1) 4 (.5, (b) and (C) (2)  (a), (b), (c) and (d)
©)) d) and (e) (4) (), (b) and (e)
IIHHHI\ z
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99U - III

fder: 39 YU B UeEe (75) 9g-fasheu T UeH ¥ 1 UE U & 91 (2) of €1 |t v e

1
1. oNR %IAd WS T 9 - 3TYcael L+ oSS o §aY9 ¢ :

(1) T e R S @ AT wRAGT 40 T )
(3) IUEH AT W TF TH Hi (4) IURH ARG W T S b f
A y .

2. ﬁé%wﬁaﬁéaﬁmwﬁmﬁr@aﬁ@%ﬁaﬁm%ﬁ%ﬁﬁ%?

(1) sAFe Afuftm, 1996 2) éﬁw 1998
(3) 2t st uw 3 srfufm, 1999 (4) aafyf=, 2000
3 h

3. freAfafed wem w1 gay v digeei @ 2 _ T w1 T ¢
(a) et Afagrsti & TS HEawl & STeqhIcsh &I | V.
(b) o1 = w1 AR fafma we fraa A foRan ST R
@%ﬁﬁﬁ@ﬁ@fﬁ o w @ e B 2
, /|
Fe
(1) 9 (a) SR (Mﬁwsﬁuwwwmoa>ww
4. ﬁﬂﬁi‘l’@ﬁﬁﬁﬁﬁaﬁo‘oﬁmlkm{95|aﬁq5d||dk3ﬁ'{‘ﬂ'é%ﬁﬁﬁn
a'wW#m
((b 5 STIR FHE
© asﬁaw HELIRUKRERSSI
(a),ﬁﬁﬁwaﬁﬂaﬁamw

e) FEA THIFT FTH (A

M & o 2 (@), (), () R (d)
(0), (d) 3 (e) 4) () (b) ¥R ()
Il ;
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5. Match the items of List - I with items of List - II and choose the correct code :

List - I List - II
(a) Carroll Model (i) International trade
(b) Corlett - Hague Rule (ii) Interest rate
() Hecksher Ohlin Theorem  (iii) Principles of taxation
(d) Knut Wick sell’s Theory (iv) Social responsibility of business P <\
Codes : (; |
@ O © @ ¢ r‘
L Gv) @) @ ) - |
@ ) @ O T >
@) ) 0 @) @) . £
@ @) @) @

4 i) (i) (@) iv) » * 3} ‘
6. Labour Rate of Pay Variance can be calculated by whichfone of the following equations ?
(1) Budgeted Labour Costs — Actual Labour Costs

(2) (Standard Hours — Actual Hours) X Actual Wag
(3) (Standard Wage Rate—Actual%e Rate) X Actual Hours Worked
4)

4) (Standard Wage Rate—eé& age Rate) X Standard Hours Worked

=
7. Given: A I
Margin of Safety ( ' #Z 80,000
Profit - h ‘ < 20,000
Sales JJ ¥ %3,00,000
" “What is the amo f Fixed Cost ?
((1) % 1,00,000 2) ¥ 75,000 (3) ¥ 55,000 (4) ¥ 20,000

aration of c nsohdated statement of accounts as per AS - 21 is :
Optlonal
(2 Mandatory for Private Ltd. Companies
(3) I{andatory for Listed Companies

(4) Mandatory for all Companies

voors [1FHHITHATRANII .
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5.

6.

8.

e

Tl - 11 =Isi 1 ot - 11 =il 9 sy oiR @@ %e 1 9

Tt - 1 Tt - 11
(a) HIA Hied (i) ST AR
(b) hrede & frem (i) =R
(c) TR Bl = (i) HEE F fagr "
(d) = faw % famt fag (iv) SATIR F WIS SO ."‘:
%< \) b / * 'I
(@ (b) (o) (d) r’ : "F
1) (v) @) @ () - '
2) ) @) @ @)
3) ) @ @) Gv)
(4) @) @) @) @)

g7 <X foeronyr o1 9iehem frefafea ° 9 S EHAT T ?
(1) = ¥ fyiia o9 @ — arafaes 99

(2) (9T E—aTEdfash H) x ARforeh HSIGH ANTd
(3) (| HSIG T — i ng&ﬁxwﬁm ‘SI%
(4)

4) (A% ASGU - ATk ) X A A1 #E
M

9 : 1

& 3UTq 2 ! #Z 80,000

e “d % {% 20,000
[EED J ) * ¥ 3,00,000

1) 3 1,00,000’ (2) % 75,000 (3) % 55,000 (4) % 20,000

TTE- 21 % TAfeRd @ fereRor IR T 6 R
(1) I*feus

(2) § urzee fatafee weafwi o fau sifa

@) s FErE % fau st

(4) |t wEtE & forg sAfem

6]
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9.  Which one of the following is not true of cash Budget ?
(1) The shortage or excess of cash would appear in a particular period.

2) All inflows would arise before outflows for those periods.

)
(3)  Only revenue nature cash flows are shown.
(4)

Proceeds from issue of share capital is shown as an inflow.

1)
10. Study the following transactions : %2 - / |
L ]
(a) Raising of short term loans r“ 3 > r’
(b) Goods purchased for cash - |
A 4 y ¢
(c) Payment of bonus in the form of shares el F
1 %
(d) Issue of shares in lieu of raw materials ?1 ‘\‘ ( ‘ .
») ) )

Flow of funds is :

(1) (@), (b), () and (d)

(2)  (b), (¢) and (d)

(3) () and (d) ‘ 4

(4)  Only (d) 4 4 r '
2, ' >

11. When a consumer increases ulit of X - commodity by giving up some units of Y- commodity
and even to attain the samé®evel of satisfaction, the marginal rate of substitution, will be
calculated by :

y < A 4

(1) Change in X - Gommodity divided by change in Y - Commodity
(2) Change ingX - Corrqn{_)"cliity divided by marginal utility of Y - Commodity
(3) . Changﬂil

(4')' Chénge in X, =*Commodity divided by marginal utility of X - Commodity

Y - Commodity divided by change in X - Commodity

(

12. The following is the demand function in the small market :
T

Q=50 5P

ere ‘QQ’ denn)ces quantity in physical units and ‘P’ denotes price of the commodity. At
priegrR 5, the point price elasticity of demand would be :

(1) o Zero (2) Equal to unity
(3) Highly elastic (4) Highly inelastic
vosss | ANRCA AT ; papeca
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9.

10.

11.

(’

12.

ke oie & gy B frfafed § @ &9 o1 wg T8 ©2

(1) AFS 1 TS AU Fe1 fhet stafy-fagm & guian smom |

(2) STaty-foR o | STee FI SMeel | Ia fe@eran S |

(3) HIA ARATA YgFd & ke YaTE 1 & AT e 7 |

(4) o9 O & FRE Y Wil 1 oTes % ®9 § g9 < § "

4

<
1
frefafeEd e -27 =1 stere & " /J
(a) 3TCT-hifereh Uil &1 &I ¢ "F
(b) TR T gEH H X X7,
(c) I &% w9 F °IE i M "(1...1";_ F

(d) e AT i SIS X SR Tl 2

Tt =1 waTe B

(1) (@), (b), () W (d) \
2)  (b), () ¥R (d) ;

)
(3) (o) 3R () V4
)

e (d) W®@& e
1 .

(4
<

W@ﬁwWY—aﬁﬁﬂiﬁk‘mﬁﬁ@@@X—mﬂaﬁswsqiﬁ% AT T AR Y
aﬁméﬂ’?ﬁ%m@ﬁ,‘% A T 1 WA < T TMET 7 GRS S

-ar@ﬁ::zaﬁ%agﬁvﬁaﬁwmaﬁm
- g 3 F1 Y a7 i ST @ 3w
- et X - o ¥ et @ s 3
- ag | %I X - & HI HHq TR | 97 <7 WY

(
(

1)
2)
3),

< < X X

( I
(%)

fefafea @Y SR H AT e ¥
Q=50 5P
‘Q sifaw [ 1 T A € SR P’ S 1 Hed 9l © | 35 % Hed T A & g qea
e 2t
N i (@) T F T

(3) STty gl (4) STcAfgs STelr=qul

e ;
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13. Match the items of List - I with the items of List - IT and find out the correct matching.

List -1
Production functions
(a) Q=102 K019 1088
(b) Q=1.01 LO75 K025

List - I1
Name of the shapes of returns to scale
(i) Constant Returns to scale

(i) Diminishing Returns to scale

' &

() Q=0.84 1063 K03 (iii) Increasing Returns to scale 2 "
1

Codes : ‘,"' /‘J

(@) (b) (9 ’r r

M O 6@ -,
@ @ O G <A g
® G @) 0 2l e

@ O @ o R

14. In the short-run, when a simple monopoly firm attdins quilibrium and earns only normal
profit, its level of output will correspond tol:

(1) Lowest average cost : /
(2) Average cost above optimum %\7‘1 of output r“

(3) Average cost equals ma‘gaa ost ¢

(4) Marginal cost much bqloVé' average cost

<Al

15. Which one of the fol]fwiitf'?"is a false statement ?

regulated and the maximization of allocative efficiency is the objective of pricing

(1) Ramsey f)}cing rates'to the methodology of pricing to situations where firms are
+ | together With the objective of profit - maximization.

Peak-load ricig is a pricing practice where price varies with time of the day.

P
&L N

—
eV

Value-pricifig is the practice of pricing where the price is set based on its value to
sthe customer.

T
(4  Two - part tariff refers to a price structure which has two parts - a lump sum
charge and a variable charge.

16. All'?f\erproperties of order, interval and zero origin are simultaneously possessed by :

(1) Nominal Data (2) Interval Data (3) Ratio Data (4) Ordinal Data

voors [1FHHITHATRANII

@
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13. el - I %1 W&l &1 et - I1 &1 731 &% @ e w¢ 3R 9d 3 Jan

it - 1
ERIFSREICE]
(a) Q=102 K019 1,0.88
(b) Q=1.01 L0.75 K0.25
(c) Q=0.84 L9063 KO3
e :
@@ () (9
®m @O G ()
() @) @ (i)
() @) () @)
@) @O (D) ()

it - 11
Yo o Fremt & e wi & T
() T & feer fem
(i) M F e fram "
(i) YoM & efaE Fem (‘:
V. - /|'I
¢ (]
1 y
A\ Ff

N i
14. STTRA H, AR T I THIYHRT ®H Fderd < T BTR el 9T a1y SAfSa hiar &
% IR 1 TR 19 & aeg&dt 20
(1) e siea @ | ' /

(2) 3ARH % STTHAdH R | aﬁm'gaﬂw AT | ( '

)
(3) ATHd AN HiHid arTd wdg |
(4) HHId AT STE AN ‘@ Bt §

15. frefofed & § #97- mw‘*w?

1) m@aﬂmﬁ(ﬁmﬁw&&aﬁﬁ%@aﬂmﬁaﬁmﬁwm@wﬁa%w ot
|o||r|qudﬁimwm%aﬁimwaﬁww‘ﬁﬁwwwéaﬁwmm
. Farerfeor g afersram T e e o ¥

(’(2) T IR HTT0T Tk H1ad (ER0 go € el fod & 9Ha % Wi Hiud # S o 7
L (3) oo fruim oo 6t T 9o € VRl Hiud 1 R Susiien w1 W 9o % STER W
AL
() fgumtt F1 e TH YHR H FHd G 7 FH o9 A9 ¥ - T qed YUR SR
qRad-a

16. T, S SR I ST T gl foreard we Ty e g e B
(1) Wiepfaswk stidhel  (2) HaUA kel (3) oUW kel (4) HAgAH kel

e :
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17.

18.

19.

Under which of the following situations, chi - square test is applicable ?

(a) testing homogenity

(b) testing goodness of fit

(c) testing equality of two sample means

(d) testing equality of two sample proportions

(e) testing independence of attributes < <
Codes : ()' .|
(1) Only (a), (b) and (c) (2) Only (a), (b) and (e) ‘ { £ v
(3) Only (), (d) and (¢) (4) Only (a), (c) and (@) _l" P

'.; y v

Which one of the following is not the correct stateme(‘regar*ng sai‘nphng r:hstrlbutlon of
mean ?

. A A

(1) Sampling distribution of mean is norma istributed for large sized samples.

(2) Sampling distribution of mean is normially distribfited for small sized samples
drawn from not normally distributed population.

(3) ‘'t distribution is not normally distributed.
(4) Mean of the sampling distribut*'(l)n of mean is eTmlio ée parametric value of mean.

Consider the following statenfrﬁs é{d identify the wrong statements :

Statement - I Accepting null hypothesis, when it is false, is called a level of
sig ificance.

Statement - IT .‘( T—eis called power of a test.

Cr1tiéa1 value of Z - static for two - tailed test at 5% level of significance

Statement - 11T/ :
) is 1.96.

- Codes :

Jl
( (1) Statements \,hand 11

( ) Statements I and III
(3,) ‘Statements 1I and III
4 Statement [and II

20. Thegprocess of thoroughly checking the collected data to ensure optimal quality level is referred
toas:
Validation Editing (38) Classification  (4) Entry
HIH\IIHIIIIHH“IHH!H\II\IHIIHII\HIHHI\ 10
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17. fr=fafaa § @ feg afifeafq o oE-@mr wer & fau y&@e 82

(a) HSIET Tdeo
(b) =Y ATE fthe wdam
(c) < ufacel ATeAE! ST FHMAT qLE

(d) < YfIel STATal hl FHE THE
(e) U1 forererull st Tordsra a1 Ti&Tor

Eﬁ‘:
(1) e (a), (b) 3R (o) (2) e (a), (b) 3T (e)
(3) A (c), (d) &R (e) (4) = (a), (

18, freforfaa & & FH-T1 Fom o7 ¥ whie v b
(1) 8% AR a1l yfaeel | Halferd Aiea 1 )

(2) @ SIEEA 9 €9 9 Gfaaid 7 2 fid B
HIGICI{ [IESIE G 'HIOI(I{ |§ﬁ {q{‘\q'ﬁ_‘iﬁml

(3) t dferawer g deaeer e 2 2 |

(4) mwwmﬂﬁmmwmwr@%mw%g@m
<

19. ﬁmﬁ@amﬁwﬁwﬁﬁt‘wmmﬁwaﬁ
FAT-1 muﬁ‘qifqmﬁaﬁwﬁwm Tl 7 T €, A 38 Hel 1 T hEl Sl |
FAT -1 Jaﬁuﬁwﬁwﬁﬁmw%
HAT - 101 15/ Tedl TR W I & 9 e % faw z - Rfew &1 wifasw w9 1.96 B 7

( SR
) RSN
3)raw=rnaﬂ111

(4&%94‘4134% I

20. sh&:ﬁlqﬂl‘{ﬁ'{{imlwd%{d%mwmaﬁ{ﬁﬁﬂﬁmaﬁmw%:
(1) fafem=ieo (2) HueA (3) @R (4) vfafe

e

p—
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21.

22.

23.

"
—~ ~ —~
(68}

Statement - (I) : Management is the art of knowing what you want to do and then
seeing that it is done in the best and the cheapest way.

Statement - (II) :Management is the process of planning and regulating the activities
of an enterprise.

(1) Statement (I) is correct, but (II) is incorrect

(2) Statement (II) is correct, but (I) is incorrect

(3) Both the statements (I) and (II) are incorrect 1

(4) Both the statements (I) and (II) are correct

Assertion - (A) : No business runs itself, even on momentum . : .‘ .revery é'fn'ess
needs repeated stimulus.

Reasoning - (R) : The management is the dynamic, life giving elem‘é’nt i evel‘y busmess,
without its leadership, the resources of p{ocfué’uon rerg

afn as resources
and never become product1on

(1) Assertion (A) and Reasoning (R), both are on"e and ((() 1s Ithe correct explanation
of (A).

(2) Assertion (A) and Reasoning (R), both
of (A).

(3) Assertion (A) is correct, but Reasoning (R) isfincgrrect.

correct, but (R) is not the correct explanation

(4) Reasoning (R) is correct, but Assertion (A) isfig€orrect.

Match the items of List - I with L1s
List - I .‘ {‘ Li[t - 11
(i)

(a) Credit Mobilier Charlés Babbage
(b) Charleton Twist Company (ii) Henry Fayol

(c) Difference Enginey (iii) Claud Henri Saint Simon
(d) Commentry Fc??r -Cha,_\mbault (iv) Robert Owen

Codes : 4 | F
@ ®lo @

1), (i) @40 @)
2 (@) () (i
) O @) v
4) () @) [fiv) (i)

t

-

24. Find out the cortect combination of statements with regards to business ethics :
(a) Business ethics is the behaviour that a business adheres to in its daily dealings.
(b)%4 The ethics of a particular business can be diverse.
(c) #=Business ethics has normative and descriptive dimensions.
(1) nly (a) and (b) (2) Only (a) and (c)
(3) Only (b) and (c (4) All (a), (b) and (c)
yoors | VRCA |H|\ 2 Faper-
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21. ®UT-  (I) : YO I ST i hell © T o119 3 31 <ed ¥, qeav=d I8 3@ 6 9% gatad
e fhaeataargut fafy & feran Siran 2|
HUT - (I1) : o= Tl qen redt i fransti W fa=mor wm &t ufwa ®
(1) A (1) 92 &, T (I1) TTea B |
(2) e (II) T B, TG (1) Td B |
(3) <Ml € HUA (1) T (1) T

‘\
(4) < g HUA (1) T () T R | ‘
22, SMMURT - (A): TS off TU™ WY TEl I Tohal, TR IE AT Ht ¥Afd § ‘@r/r
fea =8 fraftd Sqdae &t sTavgsar vedt 71
qeh - (R) : Wamwmwﬁaﬂamaﬁwaﬁ%ﬂ wé;ﬁq?aéseﬂmaﬁ

ST % T S WA € @ § 3 el o i
1) 3R (A) Td @k (R) ST & E9 €, 991 (R m)‘aﬁaé (e #1
2) 2fieRe (A) T @eh (R) ST & HE E, )W’T ET@T(R)H@W%I
3) IAFUFRAT (A) T B, T ek (R) TTeTd ©
23. Il - 1! 731 &l Gt - [1 ¥ gAfera i

Teh (R) T2 8, T USRI (A) Terd
T -1 i( @’E
EAECAICIGREY () %nacf

A~ /N /SN~

)
)

a
b

(

(b) =Teied foke Hu ‘j (i)

(c) fewim T - (ili)  FATE T @E HIEH
(d) g wR A A (iv) TR e

%< f T\L

(@) (b) i(C) (d)
(i) @y) (i)
- (i) () ‘ i)

(iii iv) (i
() (i) f%\ (ii)
@ @) fv (iii)

Wﬂmml ey | fefafed § 9 9@ 9= &1 999 S
% FeER & TSR I Tieafa & wi9-e9 § o Siran 21

I 1 Afdehdl T 81 Gehdl B

AA/:\A
ESEE

~—~ —

'(

NEZERIE CIGEX %ﬁ framer 37X foeruneTes 1= Bid 2

<1> T ) @) FE (@) @R
(3) W(bwﬂ?() 4)  (a), (b) 3 (c) Wt
rosss [[[HHITHAVACHINS 13
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25.  Which one of the following is not correct about business ethics ?

1) Business ethics reflects the philosophy of business.

3) Business ethics are governed by the Government Policies.

1)
(2) Business ethics is a form of applied ethics.
3)
4)

Ethics are the standards which govern decisions on daily basis. . «

CY
'\." /'l'l
¢t Vr

26. A marketing network consists of :

1) The tasks to devise marketing activities.

-

A ¢

2)  The tasks of hiring, training and motivating employees. « T: " F
A%

(1)
(2)
(3)  The activities that help in designing and im Tein!q‘ting ’d& ma{ketmg programmes.
(4)

4) The company and its supporting stakehold€rs ith whom it has built mutually profitable

business relationships.

27. Target marketing involves which of the following actiities ? /,

a) Market positioning 4 ( '
) \ '

(

( Market targeting . | 1
() Market behaviour
(

4

d) Market segmentat‘ol}
i
Code : ( “ N

‘ r
E: .

28. The pricing strJegy which adjusts the basic price to accommodate differences in customers,
cts and docations is called :

]?Ifferentiated pricing (2) Promotional pricing
(3)  Geographical pricing (4) Price discounts and allowances
voons | NN 1

www.examrace.com



25. fr=Afafea & @ =9 91 =eEm Sfasd & gy § 98 @ e ?
(1) g™ Ak FTE™ T9F &I IR H 2 |

2) HIEE Afaear SR Afaewdar &1 Th 'Y '

)
(3) HIEM Afdehdl SRR AfqEl gR IntEd et © |
)

(4) Afdwar 9 oS ¢ S <f e STYR W o @ wnfea #d 2 "‘\
O
, % / .l
26. TF faraor Sead § wfmfer £ - \, £
(1) fauoe fRansti & a9 @1 w _f- | F
o) bl i, sfufi v o s am < A 2

)
(3) Torqu hTeishH B A S TR F H He (¢
@ "

FHEA] SR ST Tergeh fedune e @ e AT ST a2l w1 ST
FIR
27. fr=fafaa o | foa fwenedi o afera fagom § gfmfaq \Ylld??

(a) SR sTerefifaeno -‘( r '

(b)  ISTR 1 W& 11
)

=" =
ORGSO
a 4
St
g%,
\L-‘-\_

(
(o
@

28. :&ﬁ%wr)ﬁﬁm,wﬁﬁwﬁ%ﬁmﬁﬁmﬁ%m% AT | HHTEISH

¢, 39 FEd ¢
*W‘fﬁﬁ iTa e (2) UCETEATHS HHd e
(3) ihmiferes iva e (4) A T2 R T2
vost [ NN 15 Papec
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29.

30.

yooss ]

i) i) @
: v :

31.

Horizontal marketing system comprises of :

(1) the producer, wholesaler and retailer acting in a unified system.
(2) multichannel marketing.
(3)  two or more marketing channels to reach one or more customer segments.
(4) two or more unrelated companies put together resources to exploit an emergmg market.
Match the items of List - I with the items of List - II : .|
List - I List - II . r:

(a) Face-to-face interaction with (i) Sales promotion |

one or more prospective purchasers <14 g

i -% F

(b) Any paid form of nonpersonal (if) “'I?'u ic relations ‘ 4

promotion T ) )

(c) Short-term incentives to encourage iii) Persofal selling

purchase

(d) Programmes to promote company’s ' (iv) ertisi?
image 4 ( rl-'

Codes .
@@ () (o) (d) \: f

1 @) @Gv) 0@ @ "

@ i) @ 0« 0

@) @) @) i) (i'v>"j:

4 @) (@) §FE 0w

Which of the fol‘fm‘g techniques for appraisal of investment proposals are based on time
. value of money ?

a #Accounting Rate of Return
-"'" Internal R te of Return
Prof1tab11 Index Method
Earnmgs Per Share
Codes'r
(1) (a) and (b)

()

(b) and (c) (3) (a) and (d) (4) (), (b) and (d)

p—
N
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29. ovad fagoq ¥ wfmfed © :

(1) Scureeh, i fashan 3R GeU =Amr St Tehidhd orareen § & 4d €1

(2) wg-HEEH faquE |

)
(3) TF AU TF § AfF Uew-TUS] T QA Ao Q1 W Aferen fooor el g1 98T S
)

(4 Eﬁawﬁ@ﬁ%««wwuqvwmqlmwmngﬁwﬂiwﬁ%\ﬁqm
I 1 Tk W T | "'
\) /'l'l
30. -1 Al &l Geit - [1 HT A7) 9 Gafad Hi : r '
_ry w7y )
(@) T AYE1 TF Q arfeen geae smaaish % () ﬁmfﬂ%ﬁ F

Y - Tl

(b) STEAfFIF HaeA &1 HE ot SR

ey

"I'

(c) %I &I FGH * AT STeushiicare Ficams

a) (b) (o) (d)

-

mﬁaﬁa&rﬁmﬁ%w (i

|
o

31. (ﬁ%ﬁm%qjk‘%mﬁwﬁ@ﬁﬁ@ﬁ?ﬁmw%wr@maﬂmﬁﬁ%?

a) @ik Hl

(C NILEEED ]E

gfq IR TS

wz:
(1) (a) &R (b) (2)

e

IR

(b) 3 (c) (3)
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32.  On the basis of the following information, what will be the EBIT corresponding to financial
indifference point ?

Total capital outlay I 60,00,000
Financing Plans

(a) 100% Equity @ X 10/- per share

(b) Debt - equity ratio 2 : 1 \ (\
Rate of interest 18% p.a., corporate tax rate 40%
(1) < 10,00,000 (2) % 12,00,000 (3) < 10,80,000 (4) "? 12 80, J
- |
33. Which one of the following assumptions is not included in the ]qqes E. Walter Valuation
model ? 8 ..\
(1) All financing by retained earnings only - 1' ‘\_ ( _ 1"
(2) No change in the key variables such as d 15' ; .
(3)  The firm has finite life
(4) All earnings are either distributed as dividend§ ogfinvested internally immediately

£

34. Match the items of List - I with the *I&? of List - II gnd find out the correct matching.

List - I .‘ { : List - II
i
(Formulae) (Type of leverages)
Contribution i i ) )
(a) T EBIT .. & (i)  Financial leverage
i L
'{EBIT( ¢ )
(b) Earnin\as}efore Tax(EBT) (i) ~Super - leverage

o

(iii) Operating leverage

e o J(c)

ay @ G/ 6
@Yo @ i)
<§>*dl'ﬁ> <> <>
4) () (i)
I\H\IHIH I 18
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32. frHAfafEd o o SR W faiia dqes fag & oT7&q ot T8 3 =1 g ?
Fa Yeimd afemd T 60,00,000
for e
(a) %10 9fd ¥ & ST ¥ 100 Ffaed FHa
(b) U - HHAT ST 2 : 1
=S 1 ST 18 i gfa =, i & <X 40 wfaem ‘f'q.
(1) ¥ 10,00,000 (2) T 12,00,000 (3) ¥ 10,80,000 (4) R rlzféo,wf o)

33. freAfafEd # 9 SH-H 9= S 3. e iwmw‘;ﬁl‘q’ﬁﬁﬂ'ﬁir%mﬂ%'?
(1) Faa wfaenfxd st g Fyot faq-seen "‘(1_.
¢ T ok < o Tw SR e wRafiE § w5 '\

) el
3) w4 = fHfyea faae @
) R‘\W HYT 6'101')I@_€T6‘II<1|{% |°||"|°|¥|‘_>|')_{

[t ST 1 A1 A A & €4 H
34, G- IH S F1 g - IIﬁﬁ%WWWﬁW@ﬁEﬁHW

fem g

ES ‘\1 et - 11
(9) (m‘éh'l‘m)
@) tﬂ;;’iiaa *(:Ex () fo<ita ST
";‘fsﬁ.{ﬁ & a‘-x
Py WW@@@)‘ (i) oI TR
- ' 5
((C) ;f; ’ (iii) TR S
72
k(a) )
(DN, () (i) (@)
(2)~'|--(i')r (i) (i)
(3) (lii) (ii) (i)
( 111
T
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35. Statement - I: Working capital leverage measures the responsiveness of Return on Equity
for changes in current Assets.

Statement - II : When the annual demand for an item is 3200 units, unit cost X 6, inventory
carrying charges 25% p.a. and cost of one procurement I 150, the economic
ordering quantity would be 700 units.

Codes :
|
(1) Both statements are correct , " ‘: |
(2) Both statements are incorrect - / )
(3) Statement - I is correct and Statement - II is incorrect r1 - -~ r‘
(4) Statement - I is incorrect and Statement - II is correct - r
<\ "¢
36. Match the items of List - I with the items of List - I‘L' ‘\‘ ( ‘
List - I it 11~ )
Conventional HRM Strategic M
(a) Staff specialists (i) Fast and pr@active
(b) Slow and reactive (i) People and ki owled?;
(c) Capital and products (ﬁ‘. %Line manager '
(d) Cost centre < (i nvestment _.C ntre
Codes .}.
(@) (b) (9 (;‘i)
CRNCORNORNCN
@ @ i § @)
@) @) @ 0 )
: (:(44 S 6" ) )
37. "Which one of th followmg is a traditional method for selection of personnel ?
() o= Interv1ew) Selection Test ~ (3) Phrenology (4) Aptitude Test
38. ethod of training in crafts, trades and technical areas is known as :
(1)' Véstibule training (2) Coaching
(3) Mentoring (4) Apprenticeship
voors [1FHHITHARRANII 2 papern
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35. HmAA-1: FHEMNA Yol Sk =] Ut o el & fou Tudr W o & gfdfsan <3 i

&I h! HIIT ¢ |

HYIT - 11 : 519 Th a5 o folQ a1t | 3200 THTE &, SH1E AN T 6, Thel T T TIR 25 Ffasra

%<

yfg ad & T T 3R HI ANC L 150 ©, 1 iR SA1EI 1 AN 700 THEAT © |

(1) < A w2 _"Q:
2) T YT T ¢ | . /‘J
(3) HAT-1HE T IR A - [1 7T B | r >
(4) THUT - 17T © SR HwAT - 11 6T B | -

S ————— N

(

(

(ii (111 i @)
(i) (ﬁi) H ()

e i) (i) (iv)
. WF@H =ik }1:}%‘ =99 ! IR fafy §

37.

Tt - 1 .I.I “] ‘
T TS 3N TH e = ST TH
AR ENEE] (i) i [eIR e
o we Wt (i) @TE A V.

ECiRCh (i) et weiv
AT g V@ TRuds
M
) (b) (©) o (ﬂ){
ii) (iii) 1v)" K
| ¢

(1) g TR ) 2) = T (3) wuEfamm  (4) afaefa wem

38. jj SR SR qeheRt & B givreror fafy & e €
(1) it T e (2) ergfer
(3) wfaumer (4) iy
rosss [ IINRNANI n
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39.

40.

41.

42.

Behaviourally Anchored Rating Scale is a technique used for :

(1) Selection (2) Succession Planning
(3) Performance appraisal (4) Recruitment
Which one of the following is not a mechanism of managing stress ? P
(1) Rust out (2) Cognitive therapy _.r Yy .|
\) *
(3) Job enrichment (4) Networking r -. r.
- )
T2
Interest earned by a depositor against a deposit with a CoTr@lﬁiLal banl(for custodial
service : 5 -
N ' 1 {

1) is a fund based income ol ) |

3

(1)

(2) is a fee based income

(3) is a combination of fund and fee based gain
(4)

4) is a commitment based gain f

B (" '
Match the items in List - I wi*tﬁe}_tems in List - I«
List - I - {‘ List - II

a) ATM card = 1 4 iy NPA

c¢) Micro finance iif) State Finance Corporations Act

( '\ (

(b) Debts duefor riore than 30 days (ii) John Shephard Barron
ie y

( @4" (

( (

d')— State level j\’ﬂ‘Ce corporations (iv) NABARD

Codes
O CRGIG)
a o <iﬁ>)<ﬁ> (iv)
@\ ). @ Gv) i)
@ @) @ 6
@ G O @) @)
yosss [ LA »
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39.

40.

41.

42.

oot ||H||H||H|\|H||H|

TR B9 ¥ THiS AT Thol Teh deohih ¢ fST&ehT STA foman San # :

(1) == % fau 2) e fEeE  fag
(3) eI gedid & fog (4) wdl & o
frefafed § @ =1 |1 T & Yoo & T Taél § 2 r‘(
i
(1) ufem (2) EAMCHS ITAR V. - /‘,l
(3) d Tgfgem (4) Feafdm A r
TR\

ﬁmw@mﬁmwmhﬁwmmwm%ﬁ%m F

(1) ffa-smenfa sma 7 b |
(2) o MHRG 3T T

() fafy 3R yow snenfia @y &1 e 71

(4)

4) wftega senfa @ 2 V.

Q@ (""

Tt - 1 e g nﬁ@%éagﬁfaﬁﬁm

Tt - 1 Tt - 11
(@) TATHFE a,,ﬁ () Ty
(b) 30fT 9 %ﬁg’q (i) & IHE A
(), Q&HWT (i) T faa o erfafrem
@ WWT (iv) TETE
T,
Tr@ o) o (@
1y @ (i) ) (i) (iv)
@)W a) @  (v) (i)

-

(
<3> <.f5> <ﬁi> (ﬁ) (i)
(iv)

IHII\I\IHH! s
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43.

44.

45.

Assertion (A) : A well developed money market is the basis for an effective monetary policy.
It is in the money market that the Central Bank comes into contact with the
financial sectors of the economy as a whole and it is through the liquidity in
the market that influence the cost and availability of credit.

Reasoning (R) : A well organised money market is an essential condition for the successful
operation of the Central Banking policies, and for holding the conditions of
liquidity within the bounds of what the monetary authoritiesyconsider

desirable.
(1)  (A)is true but (R) is false .2 - )" ]
(2)  (R) is true but (A) is false r’ > r’
(3)  (A) is true and (R) offers correct explanation to (A) ' 4 - R
(4) Both (A) and (R) are false S -'-. F
The operations of banks and financial institutj re regulated by
(1) The RBI Act 1934 only
(2) The Banking Regulation Act 1949 onl
(3) Information Technology Act 2000 only 3 /
(4) All of the above r“

1{ :

To operationalise online, mtEfnet mobile banking, debit card and credit card tools, some of
the essential 1ngred1ents,‘ aie

(1) Comphance w1t1 !hé‘ Information Technology Act 2000
(2) Satellite cdnnection
(3) g Selgctidi'l' a portal and server
(’ (4) Al of the \83‘
46. Iinx,;ountry cjsistently facing balance of payment deficiency can approach :
(1) The World Bank
(2)%g The Smithsonian Institute
3)" ¥
(4) The IMF and the IBRD
voors AN 2 Faper
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43. ATIRIT (A): T Glashiad g1 SR, et Hifges Ffd 1 SeR 1 g1 IR J & 191 g §
fora@ S oo Ty erefeazen & fa<ia €51 & WU | A1 § 3R THy 9k o

Terel ¥ & BT ®, ST AT ST SR 1 SUSTSUdT shi THTferd Shidl ¢ |
qeh (R) : T Ead gl aeR Held ST Fifaal & Jare &l herd & fag IR Hifgs
IfereRul g1 dfsd THeh ST arell el & 3ieR Teohdt i frafasi i sMme W

% foru sifer wd 21

(1) (A) ¥& T AfFA (R) 7o 2 ‘)
2) (R) 9 T @l (A) Ted B \ » ¥ /..J
(G) (A) T diR (R) 7 T ST RY %9
(4) (A) 3R (R) T Tefe €1 "i. J ’

44. S} AR foeit geenedl & werer s fefatad § mﬁﬁ’qﬁﬂ‘ﬁqmqm%’)
(1) aa IR e o sifafem, 1934
2) Faa Sfdn fafraea sfafey, 1949
(3) Ha@ I iRl AfafTEE, 2000
(4) o= |l

45. =N, 9d Hfh, efae Fe ﬁij@g?ﬂ@? Sret gﬁ%ﬂaﬁ I AR Jafad & & fau 9

AfaTd T Y JhX %

(1) g= st wfa}?ﬁu, 2000 T ST
%

(2) HIdEe °b“l°|-‘<’l'1( ‘.--
@)
(4') Wiaﬁ |

46. @3‘ Sﬁ%ﬁﬁlﬁ TILH SR 1 FHHT 1 TR FIHAT A1 € @ 31, 98 o¥ Fefafed & § fordeh
o)
‘c:ﬁﬂqw‘rﬁmﬁeztg

TR
(4) T TH TE IR TE o IR €

e

N
6) ]
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47. Counter-trade means :
(1) A sort of bilateral trade where one set of goods is exchanged for another set of goods
and a seller provides a buyer with deliveries.
(2) A company takes full responsibility for making its goods available in the target market
by selling directly to the end-users.
(3)  The companies in two separate sovereigns agree to exchange one set of goods for another
set of goods. 1
(4) A set of multilateral trade where one of goods and services may be exlﬁnge_d for
another set of goods and services among the trading partners. 4 - . ]
48. The floating rate system is characterised by : ‘! | r
(1)  the market forces that determine the exchange rate between two curggnéies.
(2)  the central banking authorities of the two countries muty, lly agree upén the rate.
(3)  help realigning the par value of major currer}e'p ' T :
(4)  the rate of exchange mutually agreed upgfl betwe€n IMF and its member nations.
49. A practice of selling a commodity in a forgign matket at a price lower than the domestic
price; and even at equal to the cost of production tofcapture foreign market is known as :
(1) Gouging (2) Forging (3) Di mpingi’, (4) Forfeiting
0 e . (" o
. e highest percentage of export fro dia went to Which of the following regions in
2013-14 ? “‘ i‘ f
(1) OECD countries '/ 2)  USA
(3) SAARC " (4) Latin America
A\
51. Match the items of L‘t I 1th the items of List - IT and select a correct code :
List - I ‘ * List - II
(a) , SEBI J ‘ (i) Exchange for small companies
: (b) RBI 1\\ (i) Secondary market in treasury bills
. () STCI (iii) Regulation of secondary market
(d) _FOTCEI (iv) Ad-hoc treasury bills
Goges :
(@) (b) )(C) (d)
W (v) @ o o
@ ¥al) @ 6@ o
G @ o 6
(4) @) @) @G 0 (@1v)
ST

N
=)}
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47. 9fq-=amR | qred €
(1) T J&R F1 fguafte =amr e o=id T YR & 95-998 &l 3T TR & 9% 998 9
fafma foran STan ® iR faghar shaar &1 gUe a1 § |
(2) UF HEE! AT ISR § ST TS 1 Tg=H i SR 39 <10 ek ok THe = bt foreer
A 2|
3) afwwwwéﬁaﬁaﬂﬁwm@ﬁw@mﬁm@%maﬁﬁmﬂ%m
A B © |

(4) g wﬁwwq&rwwwaﬁw@@a@wmm@ﬁwﬂgﬁﬁw
e TEIERI & & & Wkl | r {4

-

48. ToTOH X AT i fo¥ar € : i

) Wﬁéwﬁﬂmeﬁﬁ%@%aﬁagmﬁ%mgﬁwfﬁﬁﬂfﬁﬁ%{;ﬁ%l
(2) <! < R HEE ST W WER R W

(3) TG T F FAM A F1 H: Sk B

(4) T TH TF IR 3HH 9 Wi & o %rﬁmlau

49. T foceh 9ok # ford #1a &1 =R 1 § H7 W o= nﬁm?,aﬁiﬁ%sﬁwﬁwéaﬁ%
feTT w1t A1 Scare-rTd WX o o= e Sy © 1 39 e ©
oy e

(1) ¥g T (2) TAR NG
1

(4) <= HTA

50. aﬁzm&mﬁw@ﬁaﬁaﬁ}&wqﬁ&mﬁw&ﬁwﬁﬁmwﬁg?
(1) szt ;g) JTET (3) e (4) fed e

51, wsft- Iﬁwﬁﬁllﬁw@@mﬁmaﬁw@@wwwww
“ﬁf I i Tl - 11
‘ i) oY HHE B TSN

@) (
eﬂﬂaﬁaﬂs‘ \(ii) TSR fare = o AR

i (

(

(a
(e

\ (c
(

~—~

T 3 W iii) IOT SR T faf e
e A iv) ded TSR faa

(b )) ()
(i) @)
(iv) @) (@
( (i

(iv)

~—

=

()
(1

(iv)
(2) % (jid)
) (P) ) (ii)
4) (i) @)
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|\|||\|H||! 2

www.examrace.com



52.

53.

54.

55.

56.

X Ltd. goes into liquidation and a new company Z Ltd. purchases the business of X Ltd. It is
a case of :

(1) Amalgamation (2) Absorption

(3) Internal reconstruction (4) External reconstruction

When the cost incurred on recruiting, training and developing the employees i is cax‘\ldered
for determining the value of employees, it is called :

(1) The replacement cost approach (2) The historical cost approach / |
(3) The opportunity cost approach (4) None of the above r

In India, NIFTY and SENSEX are calculated on the basis of : < ¥ y

1., F

(1) Market capitalisation (2) Paidiup gapital (
59. share capiial

.
(3)  Free-float market capitalisation (4) Authoriz

Financial Instruments which are issued with' detachable warrants and are redeemable after
certain period is known as :

(1) Deep Discount Bonds (2) Secure remu? Notes

(3) Bunny Bonds 4 £(.4) Junk Bor&"

Which of the following can be‘ j déy a company a§ communication mix to reach the target
customers ?

(a) Advertising .
(b) Sales promotio‘ I ~'%
(c) Events an explriem*é's
(d) Public E[El tions '
“(e)’ Direct matketing
( (f)  Personal s;t%
' - Codes :
('l) (@), (b), (d) and (f) (2) (@), (b), (e) and (f)
€ (a), (b), (d)y (e) and (f) 4) (@) (b), (c), (d), (e) and (f)
57. In addition to motivation, learning and memory, which one of the following is included in
the mdin psychological processes affecting consumer behaviour ?
(1) Perception (2) Life cycle (3) Lifestyle (4) Social class
voors AN 2 papeca
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52. Uag fafbfeg Frot &1 fasea 2ar € iR e fa. & =3eaam™ &l T 72 oI o Tl odt &1 I8

fhe YT &1 o1 B 2

(1) wfafe (2)  aFergi
(3) TR qARA (4) ST qAHA

53. HUAME & Hed LR § HH=1E Sl 9dl, TR0 06 I R = ®i T8 T 6l ?:
(1) YfqEemTT drTd SurH (2) UfqEer amTd 3uTH Es )v .|
(3) STITR ANTA IUFTH 4) ST H § FHE @ r’«

54. 9Rd ¥, fwer 3 Y959 &1 oA fRY SR 9 Bt § 2 4 4 - B I
(1) R SR 2) eI ( 1 --'x_. F

(3) HF-fad SR Yoo (4) I Ta:i‘ﬁ , {
55. WW,WWWHWWWWAQ ST § S ue fafvea srafa &

qYETd NG €, 1 Hel A ©
(1) < fewpRe Tie 2) ﬁqaaﬂ@‘ jzv
() w1 e ‘( !

56. ﬁmﬁf@ﬁﬁﬁwwﬁﬁmﬁwq@%wm@wmwwm%
(a) fomma=
(b) ﬁmwzﬁ Y
I A\

b (@) (©), @ik @ (2) (@) (b), (@ ()
(e) ¥R (£) 4) (@), (b), (0, (d), (e) R (f)

3) (a) (b), (d
57. Y0, SIfeTH e TR01 St o Afafe frefafad § | foreent st Susier SHaeR &l g4ifad
Y ‘oﬂﬁ A AR Hishan § SnfHet foham i § 2

1) 9 (2) Sied-= (3) S et (4) @ISR o

e

N
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58. Match the items of List - I with the items of List - II :
List - I List - IT

(a) Geographic Segmentation (i) Gender, income, religion

(b) Demographic Segmentation (i) Knowledge, attitude, response

(c) Psychographic Segmentation (iii) Regions, cities, neighbourhoods

(d) Behavioural Segmentation (iv) Lifestyle, personality traits, values

Codes : " ‘:
@ B (© (@ /‘ )

(1 @) (@v) @) (1) r '

(2) @) (@v) @) () < .

(@) (@(v) @) @ (i) <A vV

@ ™ 6 6@ G i, F

iii) . ‘\ (

59. Which one of the following is not a stage in thg"pr duc'ti-l e cycle ?
(1) Introduction (2) Growth (3) quiljbrium (4) Decline

60. Which one of the following is correct statement in réspect of co-branding ?

(1) Co-branding is an umbrella branding of goods ?z_gmﬁ;any.

(2) In co-branding, two or more Mknown exisfing brands are combined into a joint

product. ‘é
(3) Co-branding is the proc.si of*eombining two brands for promoting brand equity.
(4) All of the above has

1 4
61. Which one of the fol wllrfg'is not a major punishment ?
(1) Withholdi‘ig of inc;elﬁents (2) Demotion

(4) Suspension

(3) | Transfg‘

P
62. ( Assertion (A) : E‘Valuatlon is essentially a job rating process, not unlike the rating of
mployees

Reasoning (R): /Job evaluation is a practice which seeks to provide a degree of objectivity in

- measuring the comparative value of jobs within an organisation and among
similar organisations.

(1} Both Asseértion (A) and Reasoning (R) are correct

(2) Both Assertion (A) and Reasoning (R) are incorrect

(3) ‘ésertlon (A) is correct, but Reasoning (R) is incorrect

(4

) Reasoning (R) is correct, but Assertion (A) is incorrect
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58. eIt - 1! 93l &1 el - [ 1 7al § gAfad i

el - 1 et - 11

(a) imifersn fawfaesmTo () fam, o, o
(b) SR faufaaszo (i) ¥, Afagha, gfdafsen
(c) TAER faufadeno (i) &, IR, TS
(d) AR faufaesn (iv) Sie 3el, faae & O, e . ' &
%< : _," 7\

(@ () (o (d) \/ / v/
M @) @) G 6 ¢ F
() @ () @ (i) o BN |
. SAN
( . ‘\ (

59. fr=Afafed & @ scae Siom-= &1 T =0 76 gt | h
(1) qf== 2) ok (3) (4) YaA
60. frfafaa d @ me-afen F dedf A s M HIT AF & 7 py

(1) -l Tk wraT & aegall ot ST sifen 2|

(2) HE-FfeT & A I T 3 gfwgqfaz Siel ®l THh TH IR o &I H
gutfere fFn s g1 N p

3) a@zﬁaﬁ%@%%@!&a@ﬁwmﬁmﬁ%—wm%l

(4) wﬂaﬁﬁ@wﬁ‘l ' 4

I"\
1. Frofiafi 3 3w g wpe T 80

(1) o . (2) HSEH
R/ w;?t (4) T
62. | AfRAT (A) : qodieh g €9 9§ Joiee fafy §, St sd=nfa & gotes & f=1 721 €1
T (R) : FT i Tk FEER T, S fh U e # ad1 59 9um wedl § fafy=
r’

el o FEIHE Jod 1 M H § Th g1 IS FIdl ¢ |
(1) SIERYA (A) T Tk (R) IH1 & T |
(2) W IR (A) To Tk (R) ST & TTerdl B |
(3) dfirRe (A) W %, W W (R) o
(4) ek (R) TE B, TReg ATURAT (A) Tod B
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63.

64.

Identify the correct combinations from the following :

. Training and Development .
Skills Methods Target Trainees
(@) [Knowledge Deliberation /Lecture Managerial R
(b) |Multi-skills Vestibule training Operative « - (
(c) |Decision-making skills Management game Managerial( 1. )
(d) [Behavioural skills Sensitivity training Supeqvi.sori}'f ( . !
-rr |
Codes : < A "r-. vy
% ( 1 A" r
-~ f
(1) (a), (b) and () (2)  (a)gf0) arb’ (d) L ‘
B)  (b), (c) and (d) (4) [ (a), (b) andi(d)

Which among the following areqo#aart of staffing process ?
i

)

(a) Human Resource Planning (b) Recruitment
<14
i td L
(c) Selection ( ‘ & (d) Induction and Orientation
1‘ .: |
ae) J Tra,inirli‘g ‘ d Development (f) Performance Appraisal
( - 4
" (g) Transfers (h) Separations
i =
T
C ";s : J
(1) 3 (©)(B), (g) and (h) (2) (g) and (h)
r
(3) (f) and (h) (4) None of the above
voons | NN .
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63. THAfafEd T =l ¥ 9 W& =9 o1 T8a™ HIT :

v uf¥rerer 3R faremma fafy fera wivremeft
(a) ElS ST/ HTH0T EERETR]
(b) T-HRTA Clise Rl TETETIA,
©) fofa o9 1 ST Terer T awgﬁ J |
d) SRR BRI T wferemr ':ﬁa&ﬁtr {»
- J g |
A
R o 1. f-
.
" 1

(1) (a), (b) 3N (c) 3ﬂ<'<
(3) (b), (0) 3R (d)
£
4%{ |'
64. ﬁmﬁr@aﬁ@ﬁqwmﬁiﬁa@% 7~
J

(a) mﬂawmw{ (b) o

L

() =& . (¢ (d) SN qer e
l'.

M) ) WW\J? (f)  foare Hedien

(h) gk fRam ST

wu"' Sfl‘
B
©
4
z

TS (h) (4) SR H | FE T

oot ||H||H||H|\|H||\|||H||||\IH|\||\IIHI“IH\II\IIHII\I\IHII! .
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65. Match the items of List - I with List - II :
List - I List - II
(a) INTUC @i 1920
(b) AITUC (i) 1947
(c) CITU (iii) 1955
(d) BMS (iv) 1970
Codes
(@ (b) (o) (d)
O O @ @) @)
@ G O Gv) i)
@) @ O @)
@) @ 0 @) @
66. Assertion (A) : Amended Patent Act,

product patent as well as afprocessjpat:

date of application.

Reasoning (R) :
product or proces
application, a techn

Codes :

(1) Both (A) and (R) are tmuut (R),
(2) (A) is false but (RR is correct.

(3) Both (A) and (X arg true and (R),
(4) (A) is correct b (l}) ‘_is' false.

: o
67+ “Which of the

Under the Act, patent may be grant‘

lving an iny e'step and capable of industrial
iadvance over existing knowledge.

in gompliance with WTO, provides for grant of

t for a period of 20 years from the

to an ihvention which means a new

i

is not correct explanation to (A).

is correct explanation to (A).

wing have been recognised under the intellectual property eligible for

(’ creation of rightsias“per WIO mandate ?

\ (a) Computer goftware, music disc, performing art

(b) #Geographical indicator

(c-;) " Global pojtioning system

(d} Journals, books, seeds, design, brand

Co s
" @ (b and (0 ) (@), (0 and (@)

(3) (a), (b) and (d) (4) (), (@) and (b
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65. e - 1 ! g3l ol el - 1 9 foermse
T - 1 T - 11
) 1920
TH (i) 1947
(i) 1955 \
(

iv) 1970 f'

(

(iv)

iii) (i) iv)  (ii)
66. IUFRAT (A): T 31 3 % IO | § 3TMeG &t aRIE ¥ 20 99 i
a7ty ae & forg forlt og —19 e gfshan 92 off Yo i ©

e (R) : wﬁaﬁm?a%w@wﬁwﬁﬁtﬁﬁmmm%ﬁwﬂﬁ
o Sere ik B MG e € o ﬁ@ﬁmmﬁﬂﬁam%aﬁiwaﬁﬂﬂ

m%zm@ﬁﬁwﬁr%

) (A)W(R)ﬁﬂﬁ%ﬁﬁﬂ(m (A) FT TE =mEn 79 ¥
) (A)W%éﬁm(k){w%|

) (A)&ﬂnR)aaﬁ{aﬁ%’a‘m(m(Amwm%.

) (A)Hfr (R)nlaa%|

® @ ® 2) () ()
(3) (@), (b) ¥R (d) @4 (©

(
AT .
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68. NAFTA came into force from January, 1994 embracing :
(1) The USA, Canada, Cuba, Trinidad and Tobago
(2) The USA, Canada, Mexico
(3) Cuba, Mexico, USA, Havana
(4) Trinidad, The USA, Mexico

69. A common market is one where : ( o |
-

)
(1)  all the trading nations agree commonly to levy a common and uniforin tariff r fe for all
goods. r : r’
(2) all the trading nations agree commonly to rationalise tariff ard non—t‘ariff barriers
mutually to promote intra-region trade. ¥y

(3) thereis a customs union along with free intra -wpmkmove enf' of factors of production.

-

(4) there is an economic union along with fregdntra-ynion movanjent of residents.

70. The Maastricht Treaty of February, 1992 renamed the Edropean Community (EC) as
(1) the European Union (EU)
(2) the European Economic Union (EEU) ‘ : /
(3) the European Monetary UniorﬂWU) r“
(4)  the European Economic Ggmumunity (EEC)
E
71. In which of the following case;‘ Assessing officer has the discretion to assess the income of
the previous year in _{he'!pi;evious year or in the subsequent assessment year ?

i

(1) Shipping busm(ss of ﬁon-remdents

(2)  Associatidn of Perso s (AOP) or Body of Individuals (BOI) formed for a particular
event O purpose

— | Ass‘essmen‘ f persons likely to transfer property to avoid tax
( (4) DiscontinuhQ\b\siness
*’

72. l income réceived by a foreign individual, from another foreign individual, in respect of
property sit ated in Delhi is taxable in the hands of :

Resident d Ordinarily Resident (OR) only
(2 Ordlnarlly Resident (OR) and Not Ordinarily Resident (NOR) only
(3) I(on Resident (NR) only
Ordinarily Resident (OR), Not Ordinarily Resident (NOR) and Non Resident (NR)

(4)
voors [1FHHITHARRANII
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68.

69.

70.

71.

oot |H||H|||\|H||H||H||||\IH|\||\IIHI“IH\INIHII\IHII!

(

T T TH 3 T (ATRT) SHer, 1994 B A | e, foad frefafag <o snfga €
(1) JTET, FHAEl, T, fAere AR e

(2) I THET, FArel, Aol

(3) e, i), 7 T8 T, T

4) Tifer, 3 @ T, A

1

‘g
T | SR 96 §, S (
1) Haﬁmﬁa%ﬂwm@aﬁaﬁmwwmﬂﬂwwﬁéﬂ%ﬂm%
(2) =it =T 2w e %ﬂwﬁmﬁmwﬁmw@wwfﬁwmﬁaaﬁ
IR HT I % o wewd B 2 |
3) W%‘m&‘—ﬁmad{wﬁgwHdﬂﬂ%ﬁm%ﬁm@mﬁa%l r
(4) W%Wwwwiwawaﬂb@wm%

1) T A geE (G )

T, 1992 FT Az WY % gR1 AT THEE #r) jwﬁmﬁrﬁaﬁﬁﬁwr@ﬁm
7 ?
(2

) T A RIS gHad (33 )
) = e wed e (¢
) T FAMIA s qwgl-id‘('s? @r)

3
(4
ﬁmﬁfﬁaﬁﬁﬁmmﬂﬁﬁm‘éwﬁwﬁw%%%%maﬁaﬁmaﬁﬂaaﬁﬁﬁ
aww@mﬁmﬁaﬁwﬂﬁm%mﬁﬁﬁaﬁ7

(1) ﬁxwma:viaﬁ%mﬁam

2 @ﬁw1wmlqaﬁﬁ) oy el o ShesgSTer (1 ot o) forra o Fel
TereTer =[griy Svere weile o fere g <

Ty = F gier 9 =t = 99m & fau oot gfa & gwiaia w3 A &

T %l
EIEW
Toreelt =afor il o7 facsh =afaa foootl frod Tfa § fFd g1 8N Sl 3T hal o Ir Bl 2
“1 ¥roT fHamEt (31 oR) u
wwﬁwﬁ(aﬁaﬂ?)aﬁ?wwﬁa@(@aﬁw)nﬁ

eﬂﬁam“r(mw)nﬁ
TR fHarEt (3 SR) TR fHerdt (9 37 R) 3R arfqar (TF 31R)

W
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73.  Which of the following income is not chargeable under the head ‘income from business and
profession” ?

(1) Profits and Gains carried on by an assessee during the previous year.

(2) Income derived by a trade professional or similar association from specific services
performed for its members.

(3) Income from the activity of owning or owning and maintaining race horses.

“ 2%
D
74. Mr. A earned a capital gain of I 100 lakhs on 31-2-2014 from the sale of & long ter%ap{tal
asset (land) within the limits of Jaipur corporation. If he invests 60 lakhs,” guit of

X 100 lakhs, in Rural Electricity Corporation Bonds approved under Sec, 54 EC in 20-2-2014,

what is the amount of exemption he can claim under Sec. 54 EC f’f Incoqum Act for the
AY 2014-15 ?

(1) % 60 lakhs (2) ¥ 50 lakhs (3) R 100 lakhs{ 1_ % 30 lakhs

(4) Salary received by a partner of a firm from the same firm.

75. Under which of the following situations, the JAppellate Fribunal can rectify the mistake in
the order passed by it under Sec 254 (2) of Income Tax Act ?

(a) If subsequent decision of the Supre
after the Appellate Tribunal’'s order

CourtAHigh Court is available on the subject
(b) If an assessee apply for rectification of the Tribunal's ﬁ'der by raising fresh grounds

before the Tribunal [
(c) If the omission or mlstake ‘é the part of Appellate Tribunal

(d) If the order is passed b pellate Tribundl under an erroneous impression of fact

or law
Codes : ;
A
(1) (a), (b) and () o4 . .
2) (b), (c) an (d)(

.(1 ’
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73. Trefafed § @ ®F @ o 'SR qon 9 | o’ % wfiE F ST YR @ ¢ ?
(1)  F-Fuif g Taad | SHAE @ S T A SR it |
(2) T HREN a9t s1ere U9 & forddt S g1 01 §e=i o Uid TRl fafere gansti o fag

I AT |
(3) YG-HIH o ISl o Hifcteh B ST Ik T 3R @HTA A i el | T a1t 11 |
(4) foet wH % 9rieR w1 36 wH 9 fae o 39 | <« 14

15
74. ﬁwqﬁﬁ-z-zomﬁwﬁﬂmﬁwﬁﬁmﬁﬁmi@ﬁwﬁﬂwﬁm@)aﬁ@w‘hog«é;@iem
SrefRTeA Yoft oy eAfsta w1 afe s 100 @@ | | T 60 G % WHI frmsie, s
eI 20-2-2014 1 54 § H 1 g & THF WHhd €, U ol T, I a9 2014-15 AT &R
arfufem & o 54 € 5 & oA forw ofe ™ gz T o gweg? ¥ S

1) T 60 A 2) ¥ 50 @™ 3) ‘?19\(1%(!’@ ?&)w@
1\ ‘{-
75. Trefefaa § @ fa affef § s sl e At 98w 254 (2) F s TR
Y T T ! YR F Tl § 2
(a) e Tdiea TRl < TS < Si=GL| /<=9 AT 1 3 fava W FE
et ffa Suetsd &) :
(b) aﬁaﬁ%m—ﬁraﬁﬁmwﬁa&wﬁgwﬁ ST ST IR T STEEA

HIAT |
Q) aﬁﬂﬁaw%aﬂaﬁﬂwaﬁaﬂ?@@@
d) W&Wﬁmg@%awawﬁfa%ﬂmwﬁ%mﬂ?mﬁmw@

.(1 ’
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Space For Rough Work
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